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Sub-Section Number: 1
Sub-Section Id: 335472228
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3354727331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which is the highest peak in Madhya Pradesh? | Reanes # ad 3 97w &9 @137
Correct : 1 Wrong : 0

Options :

1. ¥ Lady Hill | @St wdq

2. ® Kaimur Hill | 3% yefq

3. ¥ Dhupgarh Peak | ¢umg faax
4. ¥ Mount Logan | ATIT @M

Question Number : 2 Question Id : 3354727332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

%he Indian Institute of Soybean Research is located in ______ B R E et o R L 2 1 1 = S s H I

Correct : 1 Wrong : 0

Options :

1. ¥ Indore | 2

2. ® Dewas | g
3. #® Agar Malwa | ST AT
4. ® Gwalior | TETeRIK

Question Number : 3 Question Id : 3354727333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the name of the Indian space mission to the Moon? | TigHT T WG 1 Sfdieer THS &7 &7 911 37
Correct : 1 Wrong : 0

Options :

1. ® Trishul-1 | g - 1
2. ® Nag-3 |9mm-3
3. ¥ Chandrayan | @2
4 ® pAponi-4 [ i -4

Question Number : 4 Question Id : 3354727334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In which year was Rabindranath Tagore awarded the Nobel Prize for literature? | 7o5a au TeigmRs M7 &1 Aliged
& Tl AAlelel TEF R & FEATHG T Tam?

Correct : 1 Wrong : 0

Options :

® 1911
v 1913
® 1921
® 1923

o A

Question Number : 5 Question Id : 3354727335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The first "White Tiger Safari' in Madhya Pradesh was started in _______. | HeT nesr § UReT 'TgTET TSN W
_______ o g o T em

Options :

1. ¥ Bandhavgarh | @y
2. ® Kanha | @Tegr

3. ¢ Mukundpur, Satna | Feqs, Fa-1

4. ® Shivpuri | TRage

Question Number : 6 Question Id : 3354727336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Pravasi Bharatiya Divas (NRI Day)’ is celebrated on ______________ of every year. | W@ ad _______ R ‘et
WRA 1 Tee (QHemess fea)! w=mam SmaT )

Correct : 1 Wrong : 0

Options :

1. ¢ gth January | 9 S=er
2. ® 2nd January | 2 ST
# Sth January [ 5 S9ar
4. ® 4th January | 4 S9aCr

w

Question Number : 7 Question Id : 3354727337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

g%ﬁcentléproposed Indo-Japan bullet train would run between which cities? | g1d g1 § TedTidd YRa-ATUT geie

Correct: 1 Wrong : 0

Options :
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1. ® Bangalore - Chennai | @R - T8

2. ¥ Mumbai - Ahmedabad | GHeE EHCETE
3. ®¥ Kolkata - Hyderabad | ®la@aT-aetlag
4. # Lucknow - Delhi | #@=3 Eaet

Question Number : 8 Question Id : 3354727338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Netaji Subhas National Institute of Sports is located at
|

Correct: 1 Wrong : 0

Options :

1. ® Ranchi | =T

2. ® Bangalore | dmAK
3. ¢ Patiala | uieaTaT
4. ¥ Mohali | AIgTET

Question Number : 9 Question Id : 3354727339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many inhabited islands are there in Lakshadweep? | &&id # fopa smemea 10 87
Correct : 1 Wrong : 0

Options :

1% §3
2. ® 36
3. % 33
4. v 10

Question Number : 10 Question Id : 3354727340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the followinga:_:Ountries, jointly with India, issued a set of Commermorative Postage Stamps on the

therne of ‘Diwali’? | ElaTell & [&9d 0 THRF ST e ! BT AT AR P o o] HATTET # & H9 d1 U S8 WRa & a1

TYFd € F TEAT &1 TAT?
Correct: 1 Wrong : 0

Options :
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1. # Nepal | 9ud
2. ® Indonesia | EEATEET
3. ® USA | s
4. ¢ Canada | #1ST

Question Number : 11 Question Id : 3354727341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Kalchakra’ ceremnony is associated with which one of the following religions? | ‘#Te=e GHRIg Waiead oul § &
Tore U & HaTed 37

Correct: 1 Wrong : 0

Options :

# Jainism [ 39 e

¢ Buddhism | §g od
# Sikhism | 8@ o
# Hinduism | fgvg ad

o A

Question Number : 12 Question Id : 3354727342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which ernperor is said to have taken elephants from Shivpuri for his army? | T @aw & @ @57 9@T § ToF 394
ST EAT & Ty Taemger & grigrt @ o fora?

Correct: 1 Wrong : 0

Options :

1. ¢ Akbar | sm@Feax

2 & Humayun | EH'R;_{

3. ® Sherkhan | @<

4. ¥ samudragupt | 9GH

Question Number : 13 Question Id : 3354727343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Yashodharman's Victory Pillars (Vijay Stambh) found in Mandsaur district is situated in______. | AeEr M H
T T e & oo qaay (asr &qmn __________ IEGS

Correct: 1 Wrong : 0

Options :
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1. ¥ Sondani | |fe=T

2. ® Chirmolia | Rmiferm

3. ¥ Manpura | HFYT

4. ¥ Afzalpur | STHFAAR

Question Number : 14 Question Id : 3354727344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Who was the first woman to be nominated to the Rajya Sabha? | TeaaHT # ATHITST gi= aTell Ugel! HigeT @i 17

Options :

1. ¥ Rukmini Devi Arundale | FHvil 22T 3/ESa
2. ® Sarojini Naidu | SSHT ATE

3. ¥ Uma Bharathi | 30T 9RdET

4. ® Sushma Swaraj | AT & T

Question Number : 15 Question Id : 3354727345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which Indian business leader fled to London after being held guilty for non-payment of loans? | Tl o TR
YT o ST U1 ST O 19 & R 197 ST a1 dg 97 7217

Correct : 1 Wrong : 0

Options :

1. ¢ Vijay Mallya | o= amear

2. ® Mukesh Ambani | &S ST
3. ® Dilip Sanghvi | Teei geer

4. ® pallonji Mistry | Ueeti=air HEf

Question Number : 16 Question Id : 3354727346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Dr. Sournya Swarninathan became the first Indian to hold the géﬁuty directox;é%neral post of which UN body?
{ ST FITAT T IO @i o ST & U AT Ug 1 SHTe aTell | IR 47 a1
Correct : 1 Wrong : 0

Options :

1. # Security Council | gTgT uityg
2. ¢ World Health Organization | Taea @ @ma=
3. # International Labour Organization | SiaIEI &H @9

4. ® UNICEF | g%

Question Number : 17 Question Id : 3354727347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Wwhich Mumbai railway station witnessed an overbridge collapse leading to stampede and deaths? | ﬁ:rmgiii

Vel T I FUC G o TG 7 |l g, s wge ofk geg gd ot
Correct: 1 Wrong : 0

Options :

1. #® Vile Parle | fa urdt

2. ® Churchgate | ==l

3. ¥ Elphinstone Road | Uletheed U8
4. ® Bandra | 97T

Question Number : 18 Question Id : 3354727348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Chhattisgarh became a State on ___. | ___@! SHIaTg U@ (o4 & T4
Correct : 1 Wrong : 0

Options :

1. # 1 November 2001 | 1 Fga¥ 2001
2. ® 15 November 2001 | 15 ddax 2001
3. ® 4 November 2000 | 4 S&a¥ 2000
4. ¥ 1 November 2000 | 1 Feer 2000

Question Number : 19 Question Id : 3354727349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Hoshangabad district is part of which division? | glsTene e e g &7 fgear 82
Options :

1. ®¥ Rewa | Tar

2. ¥ Chambal | T&e

3. ¢ Narmadapuram | THH
4. ¥ Sagar | TR

Question Number : 20 Question Id : 3354727350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Part I of the Flag Code of India, 2002 refers to: | YR ¢a Gigd-2002 FT AW-1, TAATE:
Correct: 1 Wrong : 0

Options :

1. ® Display of the Flag | &a @7 ngsiq

2. ® Display code of the Flag | «a &7 ngd= |igar

3. ¥ General description of the Flag | €2 &7 G4 faeror
4. ® Flag hoisting | a9 Mg
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Section Id : 335472229 1
Section Number : 1
Section type : OnlineMandatory or Optional: MandatoryNumber of Questions: 1
Number of Questions to be attempted: 1
Section Marks: 1
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472229
Question Shuffling Allowed : Yes

General Maths and General Aptitude

Question Number : 21 Question Id : 3354727351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ajay and Babu entered into a partnership investing Rs. 16000 and Rs. 12000, respectively. After 3 months,
Ajay withdrew Rs. 5000 and Babu invested Rs. 5000 more. What should be the respective profit sharing ratio
of Ajay and Babu? | M & a7 A 16000 20 3 12000 w&ﬁﬁsrmqwa@aﬁ%uﬁarﬁm 3 ATg W, S
= 5000 20 a1ud o Tely T e & S000 20 Tee form e ok aTe T HelTed @ Qg STquTd 4T 54T aTigy?

Correct : 1 Wrong : 0

Options :

1.%2:3
28 g
3.7:9
4 ¥ 3:11

Question Number : 22 Question Id : 3354727352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

If 5x% —30x + 25 =0, then (x - 3)? is equal to A 5x2-30x+25=07 (x-3)
& TR Bl
Options :
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1% 9
2. % ¢
85
4 ¥ 4
Question Number : 23 Question Id : 3354727353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Which of the following is an irrational number? | 99 # @19 & gar smiag g&ar 37
Correct: 1 Wrong : 0

Options :
25
- 25
L % 225

a

n
&
2
—
| 3]
—

3z *®
{125
. 25

.l 3

Question Number : 24 Question Id : 3354727354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

5% f8=2

Correct : 1 Wrong : 0

Options :
| @ 210
2. % 40
3. % 20

Af10

4 %

Question Number : 25 Question Id : 3354727355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong : 0
Which of the following is NOT a perfect square? | 49 # & %19 9T Ue quf a1l =51 27

Options :

1. v 447

2. % 49

3. % 00144
4. % 1.44

Question Number : 26 Question Id : 3354727356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the average. | 39 Haiem

38, 65, 34, 35, 23
Correct: 1 Wrong : 0

Options :

1. ¥ 38
2. ¥ 39
3. % 40
4. % 41

Question Number : 27 Question Id : 3354727357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sourav and Yamini while playing a game simultaneously roll a die and toss a coin. What is the probability that
the die which Sourav rolls shows an odd number and Yamini’s coin shows a head? | @RXa 3T ATHAT, UF T Deld
T UF &1 G0 U UTET hehd & S U [9gT SOT6Id 51 T UTIIdT & 1o |1 = ST UTaT $epT &, g Ueh g ST gaidT & ST
TR T g T gaiar 87

Correct : 1 Wrong : 0

Options :

1.-8% f32
2 % 13
3.¢¥1/4
4 %8 1/5

Question Number : 28 Question Id : 3354727358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Simplify: / 9G¥ G R LU

625 52 5 10 g
——— X 52x45710+ [—
15625 BAS

Options :
1, Wy
2. %0
3-8 95
4. % 025

Question Number : 29 Question Id : 3354727359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

1313.13 divided by 0.13is equal to: | 0.13 grTewT=e 1313.13, ________ & AT Bl
Options :

1. ¥ 101
28 111
3. % 1010
4. v 10101

Question Number : 30 Question Id : 3354727360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The remainder when x® — 8x* + 2x% — 8x + 7 when divided by x — 2 is /x5 -8x3+2x2-8x

+ 7 x-2 9 faafog & W uhe gram|

Correct: 1 Wrong : 0

Options :

Question Number : 31 Question Id : 3354727361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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24 men can complete a work in 40 days. To cog%%lete the work in 24 days, how many men are needed? | 24

T 0 BT T 40 Rl B U ¢ e 81 B T 24 At B OOt e 3 TG, ot Gt T ST g

Correct: 1 Wrong : 0

Options :

® 48 men | 48 789
#® 45 men | 45 &Y
¢ 40 men | 40 &Y
# 36 men | 36 T&Y

ol S L

Question Number : 32 Question Id : 3354727362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Heena began peeling a pile of 44 potatoes at the rate of 3 potatoes per minute. Four minutes later, Chitra
joined her and peeled at the rate of 5 potatoes per minute. When they finished, how many potatoes had Chitra

peeled? | BT 44 STl % U 3T 1 3 Mg Wid TH-e &1 g¢ U HleT 8T TR T e, o 3 Iae anr fear ik
S 3Te] A THE &1 3 I I8 $1e Sa Irg i FT GHIE o, da oA o e s faer 97

Correct : 1 Wrong : 0

Options :

® 25
v 20
® 15
#® 30

ol L

Question Number : 33 Question Id : 3354727363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Find the term which does not fit in the series: ACE, FH], KMO, PQT, and UWY. | 39 Ug @1 J1d @¢ ST 2i0ft: ACE,
FHJ, KMO, PQT, iR UWY H @51 951 dadT 3l

Options :

1. ¥ PQT
2. 8 ACE
3. ¥ KMO
4. ® UwWy

Question Number : 34 Question Id : 3354727364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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104% can be expressed as: | 104% %1 5 915 & =% o641 T GFdT &
Correct : 1 Wrong : 0

Options :

1. ¥ 10400
2. % 104
3. % 104
4.v¥ 104

Question Number : 35 Question Id : 3354727365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The respective ratio of the ages of Vimal and Aruna is 3:5 and the sum of their ages 15 80 vears. What will be
the ratio in their ages after 10 years? | Taua 3k ST &1 1 &7 GaTad SIgUTd 3:5 3 8l Ikl g T AT 30 a9 31 10
T o a1, IehT ST FT ST FAT GIIT?

Correct : 1 Wrong : 0

Options :

1.8 39
2 $3:5
3¢ 2:

W

48 1

Mo

Question Number : 36 Question Id : 3354727366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is NOT a prime number? | 78 # & @19 9f 3/ 9&47 731 87
Correct : 1 Wrong : 0

Options :

1. ¥ 137
2. % 181
3.8 173
4. ¢ 183

Question Number : 37 Question Id : 3354727367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1060301 1s divisible by _____. j 1060301, ______ ZIRT ELE %1
Correct : 1 Wrong : 0

Options :
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1.9 2
2 ¥ 11

b4
fo3)

Question Number : 38 Question Id : 3354727368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The average of the numbers 136, 236, 336, 436, 536, 636, 736, 836 is___. | G&4sif 136, 236, 336, 436, 536,
636, 736, 836 T sfad

Options :

1. 8 436
2. 8 5365
3. ¢ 486
4. ¥ 586

Question Number : 39 Question Id : 3354727369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 3x2 + 6x -17 =0, then (x+1)is equal to____. /3T¢ 3x2 +6x-17=0, dl (x+1)? &

TR ol
Correct : 1 Wrong : 0

Options :

General Hindi

Question Number : 40 Question Id : 3354727370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 1761 + 287 + 149 -x = 1004, then x =7 | ZTE{ 1761 + 287 + 149 - 5 = 1004, Trx =7
Correct : 1 Wrong : 0

Options :

1. ¥ 1103
2. ¥ 1193
3. % 1183
4. ® None of the above | IU® § & F1S A5

23rd Dec 17 Shift 2



23rd Dec 17 Shift 2

Section Id : 335472230

Section Number : 3

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472230
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Options :

(1]

NN

Question Number : 42 Question Id : 3354727372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AZTHIOT 22T o JSTRE0T &)
Correct : 1 Wrong : 0

Options :

1LY 5y
2 &g

(W1

4 ¥ 7@ 4q

Question Number : 43 Question Id : 3354727373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TIH | B 9T e §Ed ATATATAT & 2
Correct: 1 Wrong : 0

Options :
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1. ¥ 3=a
2. ¥ ardt
e

4 % 3

w

Question Number : 44 Question Id : 3354727374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

o e H T Hereft weT For 7

Correct: 1 Wrong : 0

Options :

1. ¥ 3q
2. ® e
4. ¢ smwad

Question Number : 45 Question Id : 3354727375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

g e ugel ‘T a1y g R e d ' grat et __ AT 8l

Correct: 1 Wrong : 0

Options :

% gt
® g
4. *® Fue

f9 o=

Question Number : 46 Question Id : 3354727376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

TR T gATaT! g H & @ ar g?
Options :

1. ¢ Taegmar

3. % R

4. ® Tagar

Question Number : 47 Question Id : 3354727377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ST 4] % T T BT AT B F T g weg Mg A A FTAv e
Correct: 1 Wrong : 0

Options :
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1. ® i
2. & e
3. ¥ qusd
4. ¢ e

Question Number : 48 Question Id : 3354727378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

o @ aty g TR A a am are?

Correct: 1 Wrong : 0

Options :

1. 8 '+ 7
2. 8 g+ o
YV RF+ T
4 ® OF + 1

w

Question Number : 49 Question Id : 3354727379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

e 1 e e v & @ AT 27

Correct: 1 Wrong : 0

Options :

,I; LU B L B

Question Number : 50 Question Id : 3354727380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

o Iuent & a4 geg Fg H A H §7

Correct : 1 Wrong : 0

Options :

1. ¥ mEn
2 ® drg

3 ® dx
4 ¢ Hwg

Question Number : 51 Question Id : 3354727381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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TETEY Seg H (49 # & B 91 G0 87

Correct : 1 Wrong : 0

Options :

1. ® ggeiily qumg

2. ® g anE
3. ¥ gogey guE
4. ¢ FHURT GHE

Question Number : 52 Question Id : 3354727382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

U H g Four ek aresf g A g @ arg?

Correct : 1 Wrong : 0

Options :

1. ¥ 07 & I g FaAT
2. ® ITH -T2 BT
3. ¢ SR &1 @ AT
4 ® Uz @G AT

Question Number : 53 Question Id : 3354727383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

UTgel @7 §g &7 99 § & F9 a1 87

Correct : 1 Wrong : 0

Options :

N =

w

. ugar
% i

-

Question Number : 54 Question Id : 3354727384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘T T BT AT AT 50 & FI AT 87
Correct : 1 Wrong : 0

Options :
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1. ¥ g9
2. ¢ g
3. ® @y
4 % T3

Question Number : 55 Question Id : 3354727385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

e o o 8 o
Options :

2. ¥ G STHER

3. ® Iy SAFR

4 ® quF SEFR

Question Number : 56 Question Id : 3354727386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gy sreg @7 e g Ui # @ Y - fawwr

Correct : 1 Wrong : 0

Options :

1. ® TEeney @7 aitecad g9ieaTd & g1 §EET T
2. ¥ QOTWg giegide FRIEAT BT ATIS a7 T=m
3. ¢ g&g AT &7 FemTg e gRT e T

4. ® e AUH & WEITT BIIEH P GAT Fol

Question Number : 57 Question Id : 3354727387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AT AT TH U Jeg & (o] ST 3 Jeg g0
Correct: 1 Wrong : 0

Options :

1. ¢ wEfte ad @7 9 & IuAsd B g arar Joad
2. ® ymTe gy [T HA & IuAGT H 5 AT Ioda
3. ® gl 9y [T FA F AT H 514 AT Ioda
4. ® gt o [T FA F IUAGT § G ATAT Ieden

Question Number : 58 Question Id : 3354727388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

“FrsfiferaT @ arf g -
Correct : 1 Wrong : 0

Options :
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1. ® RaH I &1 5287 9 & a’TeaT g
2. ® e I F sZIT T EN
® e Sfa= # e gn

w

-

Question Number : 59 Question Id : 3354727389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Frgfeifae aeat - wata g e -

Correct: 1 Wrong : 0

Options :

1. ¥ sER-3ERT
2. % w-uE

3 V@R

4. ¥ gry-uzy

Question Number : 60 Question Id : 3354727390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
SROTAT aframlcr—iaus ddrstl

Options :

1. ¢ SROT T AT

2. ® st AT

3. % ST o7 At

4. & sorgr@Er
Section Id : 335472231
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472231
Question Shuffling Allowed : Yes
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Question Number : 61 Question Id : 3354727391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Eural Economy and Panchayati Raj
Which of the following is NOT a nationalized forest produce in Madhya Pradesh? | fAgiaiad # & @19 a1 7eg 04

# T o IS TR 87

Options :

1. # Tendu leaves | dg Wl
2. ® 53l seed | T T

3. # Kullu Gum | g T
4. ¢ Wild Grass | el =T

Question Number : 62 Question Id : 3354727392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

MNREGA -Sahastradhara scheme pertains to: | AT - G5 URT AT 509 T8 &
Correct : 1 Wrong : 0

Options :

#® Forests | a

# Drinking Water | U e

# Cleanliness drive | Ta=gdT 9
¢ Irrigation | =me

el W

Question Number : 63 Question Id : 3354727393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
According to a ICAR study report in 2015, th ;:)ost harvest loss of cereals (cumulative wastage) is estimated to

be _______. | 2015 # U STEGIR S22 HeATTel, BHe o aITe S (Gl STHe) BT JHhar SIgATa.

Options :
1. # Less than 4% | 4 nid9T & &0
2. ¥ 465 -599%

3. % 10.77 - 15.65%

4. ® 308 -9.96%

Question Number : 64 Question Id : 3354727394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who functions as Secretary to the District Planning Cormrnittee? | F&T ISAT G0 & Gicid & €9 § F19 51d7 37
Correct : 1 Wrong : 0

Options :
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1. #¥ President of District Panchayat | F&T vzmaa & sregy

2. ¥ Member nominated by the state government | Twd THR ZRT ATHT TEed
3. ¥ Member of a municipality | ATRUTIGET BT TEeT

4. ¢ District Collector | Fameftsr

Question Number : 65 Question Id : 3354727395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is known as “Yantradoot Gram” in Madhya Pradesh ? | #e@ Weq # ‘Jagd UTH & =10 § Tt SIT1 17T 87
Correct: 1 Wrong : 0

Options :

1. ® villages without any machinery | A= g ma

2. ¥ Fully mechanized villages | qof 7 & Asfiiga ma

3. ® Villages having electricity | ot &1 IumaeET aTel Ma
4. ® villages having water purmp | a1eT g aTel e

Question Number : 66 Question Id : 3354727396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The famous Tendu leaves from Madhya Pradesh forests are usedin ___________. | T W o T | WIH g o ueil
T IO

Correct: 1 Wrong: 0

Options :

1. #® Cigarette industry | e IamT

2. #® Food Processing industry | @Tel TEEH0T IS
3. ® Handicrafts industry | g&aideq IEmT

4. ¥ Beedi industry | it I&mT

Question Number : 67 Question Id : 3354727397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following schemes was merged with Sampoorna Gramin Rozgar Yojana? | =5 # & @19 | Iie,
TRt TTHTT TSR AT & 9 GaTaiaa @ of 78 of?

Correct : 1 Wrong : 0

Options :

1. #® Swarna Jayathi Gram Rozgar Yojana | &avf Sd T UTH TR Fre=T

2. ¢ Jawahar Gram Samridhi Yojana | STaTgt UTH Tkg JreT

3. ¥ Mahatma Gandhi National Rural Employment Guarantee Scherne | WETeHT Tt TR THIVT TSATI TMRET AT
4. ® Rashtriyva Krishi Vikas Yojana | TET F1¥ e =T
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Question Number : 68 Question Id : 3354727398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
NMOOP stands for : | TAU@s &7 quf €7 8

Options :

1. ¥ New Methods of growing Oil Seeds and Oil Palm | 7 RUZH 4TE WISt ATda dig U2 T urd
2. #® National Mission on Qil Palm cultivation | 9I=e T 3419 3ITIe UTH Fee a0

3. ¥ National Mission on Oil Seeds and Oil Palm | S9+# 0e9 &9 sifaa digdq U2 sifaa oy

4. ¥ National Museurmn of il Refineries | F39a e 3117 Tga Ko

Question Number : 69 Question Id : 3354727399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Pradhan Mantri Fasal Bima Yojana was launched in the year: | WelTTH=T el AT TS & JETd 49 a8 # &1 78 ot
Correct: 1 Wrong : 0

Options :

1. ¥ 2013
2. % 2014
3. ¥ 2016
4. % 2017

Question Number : 70 Question Id : 3354727400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The scheme for providing all-weather roads to unconnected habitations and villagesis ______. { o @ ae

TaT-TaTet ST T w1 GAEq A9 T aSd TSI @ aTell FeT

Correct: 1 Wrong : 0

Options :

# sansad Adarsh Gram Yojana | §ag s Ut aieET

¢ Pradhan Mantri Gram Sadak Yojana | Wl W3t U0 2@ a1

# pPradhan Mantri Bharat Jodo Pariyojana | Wl #aT ARG FIST Uii==T
# Setu Bharatam | g YRaH

o R

Question Number : 71 Question Id : 3354727401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When did the NREGA prograrmme come into operation all over India? | USRS FIFH ¥ HRT H el GATiold gair?
Correct: 1 Wrong : 0

Options :
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v 01.04.2008
#® 04.05.2010
® 02.08.2010
# None of above | IuiHd § § 1S A51

- L

Question Number : 72 Question Id : 3354727402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where is Tropical Forest Research Institute located in Madhya Pradesh? | 7ed g # §Tiude BRES REd SEI&T
gl T 27
Correct: 1 Wrong : 0

Options :

1. #® Rewa | Tar

2. ® Guna | TAT

3. ¢ Jabalpur | S&@qT
4. ® Indore | &aK

Question Number : 73 Question Id : 3354727403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The main objective of Tribal Research and Developrment Institute in Bhopal isto ________ { T ® T A e

ST &% G TG I ________ 2
Correct : 1 Wrong : 0

Options :

1. # provide employment for the tribal comrmunities | ST 11 FEETAT & T TATR IUae F]

2. ¥ Do research, survey and analysis of tribal culture & issues | J=91d 14 Ge@ia Ue GAEDTS & o # smer, @
e TergueT @eAr

3. # Promote education among tribal children | S==Td =T St & 15T H agTar o1
4. # Do research on how to make them migrate to cities | 3w Ig% H a6 & &7 sver Fe=m

Question Number : 74 Question Id : 3354727404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Greening of potato results in: | 3T ®T 5 34T, T0F HAqded g1dT 5.
Correct : 1 Wrong : 0

Options :
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1. ® Increase in weight | 9 # Thg
2. ® Increase in nutritional quality | 0T & TUrERT ¥ Fhe
3. ¥ Decrease in nutritional quality | T0T &1 oreT § FHT
4. ® Decrease in weight | WX H FHT

Question Number : 75 Question Id : 3354727405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The P%nchayat funds can NOT be kept in which of the following? | t=maa &t At Fafefas # 9 forad 751 @t =

Correct: 1 Wrong : 0

Options :

1. #® Government Treasury | G@HRI HY
2. ® Post Office | STHR

3. #¥ Nationalised Bank | TPIHT dF

4. ¢ Private Bank | Toeit

Question Number : 76 Question Id : 3354727406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Rural development expenditure has been increased in India from Rs. 58630 crin 2013-14 to appr0ximately
__________ in 2016-17. | AT ® UTHIT e =09, 2013-14 # 58630 700 & Fg1a¢, 2016-17 H &

Correct : 1 Wrong : 0

Options :

1. ¥ Rs. 80000 | 80000 FRIE 4T

2. ¥ Rs. 95000 crores | 95000 FRIS T0T

3. ¥ Rs. 120001 crores | 120001 &g 707
4. ¥ Rs. 150001 crores { 150001 #0E T

Question Number : 77 Question Id : 3354727407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The Indian Council of Agricultural Research (ICAR) was first reorganized in: | YRA 1 FiY STgETT TRES
(STSHITSIR) T Ugell oK 50 a4 H GATIST [T TTT 9T

Options :
1. ¥ 1956
2. ¥ 1965
3. % 1969
4. % 1972
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Question Number : 78 Question Id : 3354727408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Under Pradhan Mantri Gramin Awas Yojana, the housing unit constructed should be in the name of

| TEITTHAT TTHIT SITET T o SigTid, amar = aeT ee________ & AT AT AT
Correct: 1 Wrong : 0

Options :

1. #¥ Male head of household | U@ ¥ g2y giEaT
2. ¢ Female of the household | UiaR & AfgaAT

3. ® Sarpanch | &

4. ® Secretary | g

Question Number : 79 Question Id : 3354727409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the maximum subsidy to a SC/ST individual beneficiary under Swarnajayanthi Gram Swarozgar
;;ﬁggﬁ?;%ag?aé}unqﬁaann(zﬁaanaremﬁﬁwaggﬁkraﬁ%f&aqﬁquaaﬁ%%Faaﬁﬁwaanuﬁﬁkﬁaiﬁmzeﬁﬁw&wSEﬁﬂq

Correct : 1 Wrong : 0

Options :

1. ¥ Rs. 12000} -
2. ¥ Rs. 10000{-

o RE, ESE P
4. ®¥ Rs. 5000/-

Question Number : 80 Question Id : 3354727410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Swg%na jayanthi Gram Swarozgar Yojana was launched in the year: | a0l SI2d1 ITH TR AT 99 ad # S

Correct: 1 Wrong : 0

Computer Knowledge
Options :

® 2014
® 2009
#® 2005
¥ 1999

e U
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Section Id : 335472232

Section Number : 5

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472232
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354727411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

DOS stands for: | ST &1 Q0T &7 Z1dT &:

Correct: 1 Wrong : 0

Options :

# Distance Operating System | f&gdq e fmen
# Direct Operating Systern | SRR AT &egeH
¢ Disk Operating System | T&qw i fgen

# Digital Operating Systemn | fEea s fHen

ol S L I

Question Number : 82 Question Id : 3354727412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

NIC stands for: | UHemgd! &7 qof &7 2:
Correct : 1 Wrong : 0

Options :

1. #® Network interface connection | Jzad 5eXhd FAHAT
2. ¥ Network interface card | " 530 F12
3. ® Network interconnection card | ATdd seXHAFIT FS
4. ¥ Network in connection | Azad 59 FHa

Question Number : 83 Question Id : 3354727413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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8 bits is equal to _____ byte. | 8T, _____ ATET &F aXTaT Z1aT 2l
Correct : 1 Wrong : 0

Options :

1% 3
2.¢1
3. % 16
4 8 24

Question Number : 84 Question Id : 3354727414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following malicious program do not replicate autornatically? | fAgieiad # & B @1 Afcidaw ww
T HidgId 51 adTaT 87

Correct : 1 Wrong : 0

Options :

1. ¢ Trojan Horse | 299 §19
2. ® Virus | 949

3. ® Worm | a™

4. ® Zombie | FHET

Question Number : 85 Question Id : 3354727415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which % t%l_)e following is NOT an input device in a computer? | WHATREd # & &9 @ {SaTgd, THILLT FT UF 5%

Correct: 1 Wrong : 0

Options :

1. #¥ Keyboard | #leig
2. ¢ Monitor | ATET
3. ¥ Mouse | ATIT

4. # Scanner | ¥

Question Number : 86 Question Id : 3354727416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which shortcut key is used to dlsplay the format cell dialog box in MS Excel 20077 | TAUH UHdd 2007 H, e
Yol STRATT AT T TS B o ol _____ T AT T ST

Correct: 1 Wrong : 0

Options :

1. ¥ Ctrl + 1 or |
2. 8B Ctrl+20r @
3. % Ctrl + 3or #
4 ® Ctrl+4or$

Question Number : 87 Question Id : 3354727417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The use of Styles Tab in MS Word 2007 is to: | TAUH g8 2007 ¥, GTISed oo F1 SHAATA gad To1d 31dT &:
Correct : 1 Wrong : 0

Options :

1. # Include Tables and Charts | & FATTE HT ATHA FCA
2. # Insert Pictures, Shapes and Smart Art | &3, smgidem 77 guR SN gae @

3. ¥ Provide formatting instructions for Titles, Headings, Paragraph, etc | TEiead, slatd, Rk sqamie & oy
W T SHEHIT TG e

4. ¥ Design margins, add columns and Sections [ W 1SATEH F, Pl T AFIT Ale

Question Number : 88 Question Id : 3354727418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following action cannot be performed on a received e-mail? | Wqd & T #a W T & & grar
ol ToraT ST HepaT 27

Correct: 1 Wrong : 0

Options :

1. # Reply to the email | A T ITAC ¢AT
2. ¢ Add attachment | 3= TR FCAT
3. ® Forward the ernail | & &1 BRaS AT
4. ® Delete the emnail | #d & &fe F=T

Question Number : 89 Question Id : 3354727419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
What is a set of instructions called? | TS T THg FAT FgaTdl 57

Options :
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1. ¢ Program | WA
2. ® Software | |TFeeR

3. ® Hardware | g8aR
4. # sequence | Higpdd

Question Number : 90 Question Id : 3354727420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

DOS stands for: | STUE 7 q0f 7 3147 8-

Correct : 1 Wrong : 0

Options :

1% £
2. 8 F5
3 ® F7
4 v F11

Question Number : 91 Question Id : 3354727421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following shortcut keys is used to create a new document in MS Word 20077 | UHI® a8 2007
H U A STRGHE P a1 & Ty gATarad § & fed aidwe ST SHauTe o ST g7

Correct : 1 Wrong : 0

Options :

1. 8 CTRL +§
2. 8 CTRL+ O
3. ¥ CTRL +N
4 ® CTRL +F

Question Number : 92 Question Id : 3354727422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

4 four core processor is known as: | Ue BR &) NHET W0 #gamdl .
Correct : 1 Wrong : 0

Options :

1. ¥ Dual-core | ZA-PR
2. ¥ Quad-core | FAS-HI
3. ® Uni-core | gi4-#IT

4. ® single-core | RA-FIT

Question Number : 93 Question Id : 3354727423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Internetisajan ________. (B UF ________ 2
Correct : 1 Wrong : 0

Options :

1. ¥ local computer network | @i FHYILT Aead:
2. ® worldwide network of computers | FHIITH &1 faq@eamdt Jead

3. # interconnected network of computers | FHUITH BT GeXHAFCE Aedh

4. ¥ worldwide interconnected network of computers which use a cormmon protocol to cormmunicate with one

another | FHIGLY @1 T @Al SeCh-des ATad § S Uh-ga¢ § UG B & ol U BT HICIR el HT I Bedl

Question Number : 94 Question Id : 3354727424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

In comparison to the main memory, the disk memory is: | T&J BAIKI & a1 4, 2@ AAr:
Options :

1. # Slower and more expensive | ¢fHT s arfde geEa™ gidl g
2. ¥ Slower and less expensive | &t o &7 gega™

3. ® Faster and more expensive | 39 3R aifde geEa™

4. # Faster and less expensive | 3 3 &0 Gega

Question Number : 95 Question Id : 3354727425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When Inserting a table in MS Word 2007, we first specify the _______. | T THTE g2 2007 ¥, U SoId P gde
ERISIGIES a’réf ______ ﬁﬁiﬂ?fﬁmzﬁm%

Correct: 1 Wrong : 0

Options :

1. ¥ Border for the table | ¥ae & o7 ai2t

2. # Size of the table | Taa &7 ATFR

3. ® Color for the table | Ta& #TT

4. ¢ Number of rows and colurmnns for the table | & & oy I 3 FTad & G@aT

Question Number : 96 Question Id : 3354727426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The word computer has been derived from which one of the following languages? | 4 ‘FIET FMHATaT § &
oy e & o T 87

Correct: 1 Wrong : 0

Options :
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1. ® Greek | W@

2. ® English | sUSTT
3. # Spanish | guiAT
4 ¢ Latin | @leT

Question Number : 97 Question Id : 3354727427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The smallest entity in MS Excel is: | UAUE Uad § Gad BT 301E &
Correct: 1 Wrong : 0

Options :

1. ¢ Cell | &

2. ® pPage | U9

3. ® Book | g&F

4. ® Worksheet | adsfiT

Question Number : 98 Question Id : 3354727428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

A device that connects computer or router to broadband network is called _____. | o TEamed St #HygeT a1 U8}
@l digde dedh dSIgdrs, ________ EEEICIE
Options :

1. ¥ Modem | AT=H
2. ® Firewall | BTaata
3. ¥ Memory card | HANT F1S

4. ® Jump drive | 99U BT

Question Number : 99 Question Id : 3354727429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When you enter text in a cell in MS Excel, it also appears in the _______. | STeT ST UHUE U # U 9 § Shae oot
A ATTG ______ o oft fomgaT 3

Correct : 1 Wrong : 0

Options :

1. ® status bar | §22d a1
2. ¢ formula bar | BTHAT a1
3. ® row heading | T gf&m
4. ® name box | A7 dTFH

Question Number : 100 Question Id : 3354727430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the maximum font size you can apply for any character in MS Word 20077 | UATE @2 2007 #, Tordt angr
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Options :

1. ¥ 163

2. ¢ 1638

3. ¥ 16038

4. ® None of the above | IRIFa & § IS 51
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